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QUESTION: 88 

Which of the following statements about Control lines is incorrect?
 

A. There can be several Control lines with the same number
B. You can only activate Control lines using #Rep_Execute or the corresponding control
command
C. Using #Rep_Execute you can execute several Control lines at one time, each with its own
number
D. You can have several different Control lines in a report but all of them do not need to be
executed

Answer: C 

QUESTION: 89 

Which of the following statements about automatic prompt texts for subtotals in reports is true?
 

A. You determine the prompt text by selecting between "Copy of line" and "Field name value"
of the field that a total shall be created for
B. You determine the prompt text by selecting between "Copy of line" and "Field name value"
in the Report QT
C. You determine the prompt text by selecting between "Copy of line" and "Field name value"
in the box with print capabilities
D. You determine the prompt text by selecting between "Copy of line" and "Field name value"
in the report set up unless you use the line type Subtotal

Answer: D 

QUESTION: 90 

Which of the following line types in a report must have a table in the table column? 

A. Prologue
B. PageHeader
C. PageFooter
D. Subtotal
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Answer: D 

QUESTION: 91 

What does * ( wild card ) in the table column in the report definitions area mean?
 

A. The user can select, themselves, between all of the tables during execution of the report
B. No tables specified
C. All tables
D. Blank line inserted

Answer: C 

QUESTION: 92 

How do you setup an automatic subtotal in a report?
 

A. In the horizontally located search in the Report XAL or Report QT
B. In the field where a total shall be created
C. On the line where the total shall be created
D. In a variable that is later printed out

Answer: B 

QUESTION: 93 

Which of the following statements about the setup of the report generator is incorrect? 

A. The report generated is constructed around a set of data that you retrieve with the XAL
report or the QT report, which sends the data to the lay out area, where it is inserted in the
fields
B. If you write in the QT, it is that which is selected as the data selector
C. If you use and XAL, you shall not use the OUTPUT command in the table in order to print
BODY lines
D. An automatic OUTPUT command is built into the QTs data retrieval
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Answer: C 

QUESTION: 94 

Which of the following statements about the setup of fields in reports is incorrect?
 

A. You create empty fields using F2 and insert the names of the fields yourself
B. You create the fields directly from the database using CTRL+F2
C. You create virtual fields directly using ALT GR+ F2
D. You create prompt text fields using ALT+F2

Answer: C 

QUESTION: 95 
Which command does the filter in Rapport QT correspond t o in a search loop in a Rapport 
XAL? 

A. USING
B. ORDER
C. SET
D. WHERE

Answer: D 

QUESTION: 96 

Which trigger is executed when you enter ALT-Q in the delimiter window in a QT?
 

A. Break
B. Stop
C. Error
D. Abort

Answer: D 
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QUESTION: 97 

Under what circumstances is the trigger Prompt skipped in a QT?
 

A. When you have coded in the Start trigger the Prompt trigger is automatically skipped 
B. When you use the QT control command QSKIP or the macro #QT_Skip 
C. When you use the QT control command QBREAK or the macro #QT_Break 
D. When you call the QT with a parameter flagged PromptSkip 

Answer: B 

QUESTION: 98 

When you use a Rapport QT instead of Rapport XAL, what must you remember to do?
 

A. All Body lines shall be adapted to the Report QTs special output method 
B. Subtotal line set ups shall be changed to take into account the Report QTs scanning method 
C. Nothing other than deleting all of the lines in the XAL Report 
D. If you have a page break, this must be removed as it creates execution problems for the 
Report QT 

Answer: C 

QUESTION: 99 

How can you limit the users ability to add delimiter fields in a QT?
 

A. You cannot 
B. By deleting all user rights 
C. By setting the Enter field to No Fields in the relation window to a table 
D. By setting the Output field to With Postings in the relation window to a table 

Answer: C 
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